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SECTION 1 - SECTION 1

Question No.1 (Question Id - 10)

Given below are two statements. One is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A :
The empirical approach is an evidence-based approach.
Reason R:

It relies on direct observation and experimentation in the acquisition of new knowledge.

(A) O Both A and R are true and R is the correct explanation of A (Correct Answer)
(B) O Both A and R are true, but R is not the correct explanation of A

(C) O Aistrue, but Ris false

(D) O Ais false, but R is true

Question No.2 (Question Id - 4)
Data collection is considered as :
(A) O Secondary
(B) O Tertiary
(C) O Primary (Correct Answer)
(D) O None of these

Question No.3 (Question Id - 6)
Conclusion in a research comes after :
(A) O Objectives of the study

(B) O Hypothesis of the study
(C) O Analysis of the study (Correct Answer)
(D) O None of these

Question No.4 (Question Id - 14)
Given below are two statements :

Statement | :

The null hypothesis always predicts that there will be no differences between the groups
being studied.

Statement Il :

The alternate hypothesis predicts that there will be a difference between the groups.

(A) O Both Statement | and Statement Il are true (Correct Answer)
(B) O Both Statement | and Statement Il are false
(C) O Statement | is true and Statement Il is false

O




(D) Statement | is false but Statement Il is true

Question No.5 (Question Id - 7)
Hypothesis consists of :

A. Independent Variable
B. Dependent Variable
C. Control Variable

D. Quantitative Variable

(A)O A, B&D
(B) O A, B & C (Correct Answer)
(C)O B,C&D
(D)O A, C&D

Question No.6 (Question Id - 2)
A key feature of all hypotheses is that each must make a :
(A) O Analysis
(B) O Evaluation
(C) O Conclusion
(D) O Prediction (Correct Answer)

Question No.7 (Question Id - 5)
Questionnaire is a research method used for :
(A) O Measurement technique

(B) O Data analysis technique
(C) O Tool for data collection (Correct Answer)
(D) © Making conclusion

Question No.8 (Question Id - 8)
Methodology consists of :

A. What references will be used ?
B. What the sample would comprise ?
C. How primary research methods would be employed ?

D. How variables will be used ?

(A) O B & C (Correct Answer)
B) O A&D
(C)O B&D
(D)O C&D

Question No.9 (Question Id - 12)
Given below are two statements. One is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A :
Tourism in South Korea has been impacted due to the emergence of Corona virus.
Reason R:

Corona virus is an independent variable and tourism is a dependent variable.




(A) O Both A and R are true and R is the correct explanation of A (Correct Answer)
(B) O Both A and R are true, but R is not the correct explanation of A

(C) O Aistrue, but Ris false

(D) O Ais false, but Ris true

Question No.10 (Question Id - 9)
Given below are two statements. One is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A :

The statement of the problem could be a description of the current situation or a gap in
scientific knowledge.

Reason R :

It explains the reasons why the study should be undertaken, how urgent or important it is,
and what contributions your research will make to your area of study.

(A) O Both A and R are true and R is the correct explanation of A (Correct Answer)
(B) O Both A and R are true, but R is not the correct explanation of A

(C) O Astrue, but Ris false

(D) O Ais false, but Ris true

Question No.11 (Question Id - 3)
Choose the most incorrect answer.

The advantages of mail questionnaire are :

(A) O Higher cost (Correct Answer)
(B) O Greater anonymity

(C) O Reduction in biasing error

(D) O Accessibility

Question No.12 (Question Id - 1)
The purpose of research is to :
(A) O Find the solution

(B) O Find the conclusion
(C) O Identify the problem (Correct Answer)
(D) © None of these

Question No.13 (Question Id - 11)
Given below are two statements :

Statement | :
Plagiarism means using someone’s ideas but not credit that person.
Statement Il :

In spite of giving credit the source but use its exact words without using quotation marks or
block indentation could also come under plagiarism.

(A) O Both Statement | and Statement Il are true (Correct Answer)
(B) O Both Statement | and Statement Il are false
(C) O sStatement | is true and Statement Il is false
(D) O Statement | is false, but Statement Il is true




Question No.14 (Question Id - 13)
Given below are two statements :

Statement | :

“If people exercise for 30 minutes per day at least three days per week, then their
cholesterol levels will be reduced.”

Statement Il :

The null hypothesis would predict that the exercise group and the no-exercise group will not
differ significantly on levels of cholesterol.

On the other hand the alternate hypothesis would predict that the two groups will differ
significantly on cholesterol levels.

(A) O Both Statement | and Statement Il are true (Correct Answer)
(B) O Both Statement | and Statement Il are false
(C) O sSstatement | is true and Statement Il is false
(D) O Statement | is false, but Statement Il is true

Question No.15 (Question Id - 15)
Match List-l with List -1l :

List - | List - 1l

uses interviews as well as analysis of
(A)JHypotheses () historical materials

(B) Quantitative (1) [must be consistent with prior evidence

research

©) Qualitative (1) are the researcher’s attempt to explain the
research phenomenon

(D)|Theory (IV)|luses numbers and statistical methods

(A) O (A) - (), (B) - (IV), (C) - (1), (D) - (Il) (Correct Answer)
(B) O (A)- (), (B) - (I), (C) - (IV), (D) - (1)
(C) O (A)-(m), (B)- (), (C) - (IV), (D) - (1)
(D) O (A)-(I), (B) - (IV), (C) - (1), (D) - ()

SECTION 2 - SECTION 2

Question No.1 (Question Id - 43)
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Question No.2 (Question Id - 36)
CHEoAM HEf28 oz AFE BO| HEfE DEAR.
(A)O —z/1o=2
B)O -2/&=
(C) O -/t
(D) O -ok/of (Correct Answer)




Question No.3 (Question Id - 61)
dete] += = FA0|AS LM ?

(A) O gt
(B)O =g
(C) O #HF (Correct Answer)
D)O Mg

Question No.4 (Question Id - 85)
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(A) O FZ 13 FF I 25 AHHOICE, (Correct Answer)
(B) O FEI11 FENZF HAO|CH

(C)O FHI12 A0l FZ 1= AHAo|C},

(D) O FE 12 HA0| FH 1l = AHHO|CH

Question No.5 (Question Id - 50)
S22, X2, EHERO| T ChZ 2 &I O| RO TS X= HE LEAR.

=l
FHEA: 0|52 EF0 AlQloj2tn £EL

0|7 B: XS MM =2 51 Xteo| 29S8 S¢F 21ztel 41} 7HX|E O|F 1k o= Ef =
ot A2 X[E7| WZ0|Ct,

(A) O FE A2 0|F B 7= Ct L} (Correct Answer)

(B) O FY A& XX|Tt0|F B 7t HX| QiCt

(C)O FYE A= E2XT 0|7 B = HEt.

(D)O FEARAO[RBE LCH=e(Ct

Question No.6 (Question Id - 72)
CHEOHE 2 AMRFE 02 28 DEHA L.

WEEE [ [IZ ARS Aget gsoin e [ 248 &
- ) %8x8
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O EEE = (%

(A) O (A=), (B)-(1), (C)-(IV), (D)~(Il) (Correct Answer)
(B) O (A)-(I1), (B)-(1), (C)-(1), (D)-(IV)
(C) O (A)-(1), (B)-(lN), (C)-(lIN), (D)-(IV)
(D) O (AX(IV), (B)-(1), (C)-(1), (D)-(IN)

Question No.7 (Question Id - 73)
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(A) O 42
(B) O &R (Correct Answer)
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Question No.8 (Question Id - 89)
otz 2lAtE T =2 2 M7 AE OtA|OtLE S-S A

mn

ol oAt BFAYUL 2
A. S LT A S| AHHyundai Development Company)

B. o2t1-E(Hanwha Group)

C.  D|2HOof| AT 2 (Mirae Asset Daewoo)

D. &4353 Y (Samsung Heavy Industries)

(A)O A&B
B)O C&D
(C) O A &C (Correct Answer)
(D)O B&D

Question No.9 (Question Id - 35)
Che2 A2 240 ot 2 Ho|ct,

FE A TE'2 NHES=It LIERHT,

O|f B: =29 #& 0| Fo| ‘o’ FESZ ‘0’2 HH|7| I EO|C}.
(A) O F=%3} 0|27} Ct %L}, (Correct Answer)

(B) O =F2 %no|lge g2/t

(C) O F=F2 £2|X|Tt o] g& LC}

(D) O Fx1tolg & ot E2/ct

Question No.10 (Question Id - 86)
CH3HOI =2 | 2THAADS K| 0|7 TS & 22| ALt 2
(A) O Terminal High Altitude Area Defense (Correct Answer)
(B) O Technical High Altitude Area Defense
(C) O Technical High Altitude Area Deterrence
(D) O None of these

Question No.11 (Question Id - 59)
M E = o CHE 0|2 FAY LIt ?
(A) O o|xj=
(B) O 0|44l (Correct Answer)

(C) O of=4l
(D) O o|d&

Question No.12 (Question Id - 17)
ChS EHojel Y82 X2 12|,

ZHAsiot

(A) O z7tctstn 2E Q3 Z40| glo] ZBSICt (Correct Answer)
(B) O &o| 50 2NE AALL D& E O2|1 H2 YK

(C) O Z&O| MEEHLE ofMst o7t glo] s=310] HULE.




(D) O OrZ£0f Zo| =7]0f FEtstet.

Question No.13 (Question Id - 87)
Ol 4 LIRIER BCIE 22 AT S Hof ) S0 42wk o
H oS EpASLI?

(A O 2017
(B) O 2018
(C) O 2019 (Correct Answer)
(D) O 2020

Question No.14 (Question Id - 77)
Ao AES0] Z2A I = R0 =5 =0t OFEEA 2=
St = AERSLICH
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A)O &H

(B) O X% (Correct Answer)
(C)O gzt

(D) O EXt7|

Question No.15 (Question Id - 45)
Cte2 o= 20 2 dE7]2 2o tiet 7|=0|Ct. thg2f & T&of thsl &
=PN=X
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Fl& B: oS0 E|XE|0f ot =& &30 20| O|F| K| X| QUL
(A) O Zl& A%t B = Cf 2L},

(B) O Tl= A2t B = Lt =2|C}.

(C) O Zl& A= %11 B= =2ICL. (Correct Answer)

(D) O Tl= AEs 2|1 BE %L

Question No.16 (Question Id - 37)
Che CHo| Sl dd - ol RAY LIt ?

*** UNESCO, ROK, SCUBA, RADAR ***

(A) O EX}0] (acronym) (Correct Answer)
(B) O 8% (blending)

(C)O mdH

D) O g

Question No.17 (Question Id - 32)
ChE2 Q1Zkef 210fof tHet 2Ol

—




HAaZ|Qt o|0] Atoje] A E o= o JiQl0] O = HE &+
C}.

(A) O A%B S CfSCt,

(B) O At %1 B= =2|L}. (Correct Answer)
(C)O A= E2|1 Be %L

(D)O A%BE CtE2|C}

Question No.18 (Question Id - 53)

Chgel & 4 & —E— gol|o| “E[Z AZ-UALL 0] RS0 Aet Lt o] “Z5]"0f Chet 23
O|Ch StE AS LEAL.

A, Od 2 HEO|L

B. T&HQ OG0l it o|ofX|et IS HESHL O ddS Z=THht

C. 7IRYXHNOlI7tF A £0A QIZE22 M JH210] Of ¢l OfLY, &i0f, F2A 275[= Of

(A) O A%}BQC 7} 25 %Lt (Correct Answer)
(B) O AQtB ghHCt,

(C)O Betcgharct

(D) O m= Eg|C},

Case Study - 19 to 20 (Question Id - 96)

Question No.19 (Question Id - 97)

e B UE A 329 Wges A7 AR AL Aushle
Since neither of these men has proposed, you mav be counting vour chickens before
they're hatched.
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Question No.20 (Question Id - 98)

We’'re not asking_for the moon, but we are asking for a raise so that we can afford to buy
enough food.

(A) O 22| &g QP8t= 20| OfL|Ct

(B) O 2| =2 27st= 0| ofL|ct

(©) O 227t @73t 4L OFF Cthet Zolct,

(D) O 22|17t 278t A2 CfTHst 210] OfL|C}. (Correct Answer)

Question No.21 (Question Id - 76)
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™ (Correct Answer)

Question No.22 (Question Id - 29)

Ch=2o| SHAHEOIQF O 50| BHA HAE A2 1EAR
() [FEIT R EIORLHE ) moro) mag ) anz xpAIS
=3
(B) | HE AP () |gl6) 255 Bl Tiatoia -
C)|d&7tet & ol glg |()|oj2] EH|7} &0 o™ AH
D)z 48zt (V)= {10l M2|7t &
(A) O (A)-(I), (B)-(lm), (C)-(IN), (D)-(IV)
B) O (A)-(), (B)-(I), (C)-(IV), (D)-(Il) (Correct Answer)
(C) O (A)-(I1), (B)-(IV), (C)-(I), (D)-(lm)
(D) O (A)-(IV), (B)-(I1), (C)-(1n), (D)-(1)
Question No.23 (Question Id - 27)
Chge Zzto| 2t BHAALICH 1 0|0[7t B5 9| GZHE HE D24 Q.

)| I=EE oy

ABE7F A OF £|0f HY 50| A= 3S|Ct
®uzsics ) [mes 22 42 =20 9ot
()| g2stct ()= 0] X|x|1 Wo| Za|1 7|20| giCt

(A) O (A)-(IN), (B)-(I), (C)-(IV), (D)-(I1T)
(B) O (A)-(In), (B)-(IV), (C)-(IN), (D)-(1)
(C) O (A1), (B)-(11N), (C)-(IV), (D)-(IT)
(D) O (A)-(IV), (B)-(Il), (C)-(1), (D)~(Il) (Correct Answer)

Question No.24 (Question Id - 48)
CHZ2| Al E 2 AlQl0]| CHot HHRALICH H= AS DEAR,
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(A) O ADFGHC

(B) O A%l BT S},

(C) O B2t Cot gt

(D) O B2t cet DTt %L}, (Correct Answer)

Question No.25 (Question Id - 66)




QI AlQIO| & oh=0j TS A| O] B2 FAH R L2
(A) O ofA|ote] 52

(B) O B4o| 5& (Correct Answer)

(C)O st=ol 58

D)O %0 58

Question No.26 (Question Id - 22)
Cte2 o= 7HE0 tiet Li&0o|ct.

Assertion A :

X O Z ot ol MEX Jt= AE & 7YX Ql O 74=0|QUCH alTt=0| 222t 0|= 9l
XA 22 O| 2 0{ 7l 401 O| H|8f CH7t=H2 5o 2=t At & &X}, & SIHK|E ESt
= 715 YEfE Yotk

Reason R

HEH EHH?;HQLIQ? OFH{ X| 7t EIOHO| 7FG O 2 M 7tE = MK D= 715 —T“S%J_%gl
OfHiX|o| ¢S £330 ofe{x|of ZHe WafH o viof SiLf Atz|o| 7LE olofAE &
27t =55t 7t5F 280 CHsiM = & AtEto] He|ef o|F & LiH =0t §30| QUL

(A) O Both A and R are correct and R is the correct explanation of A.

(B) O Both A and R are correct, but R is NOT the correct explanation of A. (Correct
Answer)

(C) O Ais correct, but R is incorrect.
(D) O A'is incorrect but R is correct.

Question No.27 (Question Id - 78)
oh=Ql2 RN V|G S P ottt A HE UEE, BHe, 4, SX= EOo|1, #Hg
oSO S0t = W2 7| E O[T,

A= M SX= FAYL

]
=
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(A) O 2352 1520 HHE 53| T8, S8 XLojM 2 YEZ ACh

(B) O <3 128 22, YA F 20| 71 Eu o] 7h 21 LO|Ct. (Correct Answer)
(C) O ol ZHEtstA x|t = HMAF

(D)O 0| O|E O|Y AKE= Y

Question No.28 (Question Id - 42)
a2 o=l 2 &= 2l 5Lt ‘7o tiet 2HOo|ct ofefie] 83 & &2 BHE 12
A2,

A M= 47 H|, 87A, 107K 7+ ACE.

B T2 S22 2t&0| X[ R AUCL
C ‘™A X 87p Kkt7|mEvp So| ZHZ 0| QL
D

(A) O AL} BEH

(B) O A2} B2} cot

(C) O BLtDEt

(D) O A%} B2l DT (Correct Answer)

Question No.29 (Question Id - 79)
Uz Drjo ¥, AXS HIo| Q20| K|SO Y HY A XS
S 'ufeieln OIE RS XSS E23%CH (1919
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(A) O Z=ntosiol=s 45 2
(B) O etd3| EY oA

(C) O 3.1 25 (Correct Answer)
(D) O o] st= ZH| B

Question No.30 (Question Id - 16)
CH EHOjo] Y E £8 n2AQ.

%o
(A) O 7|Ado|Lt 42 |7t B HSHK| % S2[HA

(B) O o= sfjof & Ao|Lt 742 Yoj CiEt OF2 2| =H| (Correct Answer)
(C) O HZ=o| & A=zl X|Ct

(D) O ™ol Y=0i LtEFLEX| Q4Ct,

Question No.31 (Question Id - 70)
Statement 1 :

Q&2 WE5E0| ZE 23 W82 B82St e = JAEHMEH 20| O|F0{ & of
H 24 d 80| 7ts35tot

Statement 2 :

& 228 2aotn Ex5617| YshiM = 22H8 W8&=2 A= 0|C|of EHo| 7|27} F

(A) O Both Statement 1 and 2 are true (Correct Answer)
(B) O Both Statement 1 and 2 are false
(C) O Statement 1 is true but 2 is false.
(D) O Statement 1 is false but 2 is true.

Question No.32 (Question Id - 51)
ChE2l O2] Al SOAM HOAAL MEAIZE |2 AS DEAR.

A EHHE
B. El= =0OIEC=E
C. H¥
D. &0t

(A)O AQB T

B)O B2tD gt

(C)O ActcetD gt

(D) O A 2B 2D 9 (Correct Answer)

Question No.33 (Question Id - 81)
2016-173 CHSHRI= O M Bf 25| MOHSHOf Cher Lol o5 F30[2f ngtL|7t?

>
A ZEEH




B. X=0H=Z

c. %2499

D. ZuEo

(AYO A, C&D

(B) O A, B & C (Correct Answer)
(C)O B,C&D

(D) O None of these

Question No.34 (Question Id - 99)
cheol Wof o TE B=O| SES D2AR.

“Too many cooks spoil the broth.”

(A) O

gjol- | o
() O Alxfo| o]}
C)O 99 g7
(D) O AtZo| ptom™ b7t A2 2 ZEC}, (Correct Answer)

Question No.35 (Question Id - 82)
Sotat0|= o K| XS WA B 2+ b =T 2| B O| S L7t 2
(A)O zEE ExmoL AU

(B) O =X| £Alet 4
(C)O Edc Exme}

=
zye
(D) O Z=X| £Al9 AHL

(Correct Answer)

Question No.36 (Question Id - 55)

OS2 2@ daotet mAae|A AdES AZsH Z0|C HIZto] Y2 2472 A= A 12
NE=3

-3¢ g3} oA A~

EEEL] (A)

gro| Ha} (B)

TEX|H ENH

23{x[243 |(C)

(A) O (A): =8 (B): MHH (C): 58T

(B) O (A): &M (B): E8H (C): H™HH (Correct Answer)
C)O (A): BEH (B): =& (C): MHTH

D) O (A): 4EH (B): 88 (C): =&H

Question No.37 (Question Id - 21)
Chge ZEof Cfsh LHgo|ct,

Assertion A :

2 RE2E ZA= LYLICH Y2 BERE D A= AO| OtLZLL SXNE £E2E EAl&=
A2 gqeka gL,

Reason R

TS 2RH ot 2ES 7S U A2 07|01 RE WE 220 HUN, §
BHZ2 oA etH OFF 2| 0j2{2 Yol2te ot &L Tt




(A) O Both A and R are correct and R is the correct explanation of A

(B) © Both A and R are correct, but R is NOT the correct explanation of A (Correct
Answer)

(C) O Ais correct, but R is incorrect.
(D) O A'is incorrect but R is correct.

Ch=ol BIZH0f| S0{Z Y2 TS T2A L.

22| Ot A= 2= LS FolT A 2T 512110 SHA|L, 7HSSHEH O Tof 5tE gAez
M Cf

PSI= ke ¥= Inike] UX|

(A)O =
B)O 1
(C)O x
(D) O g&4ol Act

AN

Question No.39 (Question Id - 38)
212417 EOf =A Ho| S0{2 ZoA L7} “X[g R A[L?2f2 & = Mo AEWH

el FAYLIE?

2 Mo oom my

(A)O =
(B)O 9
€O =
OO #

(Correct Answer)

Question No.40 (Question Id - 57)
S| ARt =YL ?

(A) O %|H|2 (Correct Answer)
(B) O o]gA

C)O MEoHe

D)O &H

Question No.41 (Question Id - 102)
ChS 230 Mooz JhE HEE A n2Ale.

“The donor’s benevolent gift to the library helped it to become a leading source of classical
literature throughout the years.”

(A) O =AMzof Cot 1 7|SXte| ApdHol ME2 OA0| s=Ed2tof| Z™¥M 2 Zst
ol =Ml AHO| &= AS =20

(B) O ZI|8Xte| Molo| 7|52 A =M 2 ol 7t M=Xol ™ 20| EX{7}
=& UCH

(C)O XY= A0 U2 EME 7|52 M 1 EMHL £1H SOt 21S|= 1M 28t
o| A 0| K| QICE (Correct Answer)

(D) O Moo 7|BAIL 2 =2 7|REeE2M O EMEH2 =3 52 1 Bt EME
2t St URACEH

Question No.42 (Question Id - 25)

Chg ol Bzt S0iZ YYS BY FEE NEAL.

x| =0 ot=2l XASK 20| St Aoz HEE ALt




(A) O v-7| LtE0|LC},

(B) O v-&= FM|O|Ct (Correct Answer)
(C) O N-2/& EE0|2{Ltet

(D) O v-2tdH

Question No.43 (Question Id - 71)
ob= AFRES 2| ok of CHal SEA 280t AE 12A|2.
(A) O CH2 AtHo| A ZALSICHE OFS 2 2 CHE ST
(B) O CHZ ALZtol|#| B Al =
€O ExtHps sEsD W2 (fESs =2
g

D)O EXtLHEED

Question No.44 (Question Id - 18)
SOl =0{ T =2t O 90| 7 HZAE AS AEAL.

7|20 &l& AL HE0lE A0

(A) M & HT o =7HX] 20t () | AL Ao}

~

OF=2| AHZ 7t HOjLICt BtCiet: 1
HCF O 0] ARZEO| YUCh

Of 3 M H{X2 LtO|7t OFF 2| BOf
ME 2X7| &St

(B)|HH 2L Hi & 0| & 2Lt (I

AFZ 0| o b7t Ao &2

s—

(C)|ztct (11

- - 2] AF2H0| Hf &
D)|HE & /ol Lhe = UTh (V) 31 %Er %Jffﬂ wf

(A) O (A)-(In), (B)-(I), (C)-(1), (D)-(IV)
(B) O (A)-(IV), (B)-(II), (C)-(I), (D)-(1)
(C) O (A)-(In), (B)-(1), (C)-(I1), (D)-(IV)
(D) O (A)-(I), (B)-(1), (C)-(IV), (D)~(ll) (Correct Answer)

Question No.45 (Question Id - 84)
Ofef & 7He| 2&2 % A Q0|7 R 22X 50| 20{JUEL|CH = HEDEHAR.

=
FE A Ootli=zol MEXNQ4Z UIEL £ O, A0, = & =0|H =2 2ul
o 2AE @5l Hojstot.

O|f R: CiotlI=2 1 uX 2AS Y2 0|E517| 5 /StH 2uH 255 HYsstn
go|7| flof MEHLZH S HUSLFHS A[XRUC.

(A) O A2IREAMO|T R 2 A2|Z24HO|LCL. (Correct Answer)
(B) O A2LR EAEO|X|ZIR 2 A Q|2HIE A HO| OfL|LCt,

(C) O A= AHHO|X|2HR = AR O[OFL|CE,

(D) O A= ANO|X|Zt R = AHEO|LCE

Case Study - 46 to 49 (Question Id - 91)




. Lis &2 A1 EBolAlL

The natural world is under violent assault from man. The seas and rivers are being

poisoned by radioactive wastes and chemicals. The air we breath is polluted by smoke and

fumes from factories and motor vehicles; even the rain is poisoned. Evervwhere wildlife is
r -

disappearing. The great rain forests and the frozen continents alike are seriously

threatened. However, governments and industries throughout the world (1) are increasing

their etforts to extract the earth’s mineral riches and to destroy its living resources. They
continue the destruction despite the warnings of the scientific community and the deep
concern of millions of ordinary people. But there is still hope. The forces of destruction are
being challenged across the globe - and at the spearhead of this challenge is Greenpeace.
Wherever the environment is in danger, Greenpeace has made a stand. Its scientitic
presentations and peaceful direct actions at sea and on land have shocked governments
and industries into an awareness that Greenpeace will not allow the natural world to be
destroyed. Those actions, too, have won the admiration and support of millions. (2) Now
vou can strengthen the thin green line; you can make your voice heard in defense of the
living world by joining Greenpeace today. Thank God (3) someone’s making waves.

Question No.46 (Question Id - 92)
flol 22 2 SR JIE M- A2 FAYLIMt?
(A) O HEO|A sHAH: S opstetn 2 716k7| /)
(B) O stz MEfE CHEOHA L2l7| 2l

(C) O Greenpeace2| &5t &2|7| 2l

(D) O Greenpeace®ll 3&3st=2 HR5l7| 218l (Correct Answer)

Question No.47 (Question Id - 93)
EEd (1) vgez /Y HEst A2 FAYUL L2
(A) O 290j| x| Ctatrt,

(B) O 20| =g ZFsiCt.

(C) O golof #oto| E|of QICt. (Correct Answer)
(D) O 22X oozt d&stn UCt.

Question No.48 (Question Id - 94)

TE X (2 F29 HYc = JtE HAHs A2 FALL I 2

(A) O Xg A2 gfe sMMS ZstA & = Ut

(B) O X2 o2{22 0|t ARHEE ZsA & & QUCt

(C)O OofH of2{&£2 AAS sMME EESHA & == AL

(D) O o|H of2{£ = o|est AR B0 =88 & 3+ ULt (Correct Answer)

Question No.49 (Question Id - 95)
2E A (3) 2 o0z 71E HAES A2 FAYULIIN 2
(A) O mzo| &g o|g%t a7t T F0|Ct,
(B) O flgdst Aol Kot At2E0| ULt
(C)O BARSL2FE ol= AHZHEO| QULE. (Correct Answer)
(D) O sHAMENAE LAISH= AHEE0] QULCH.

Question No.50 (Question Id - 33)
e & 2t=0{2 A3 0| Yt =3 X7t OfHl A2 FAKLTL?
A O =
(B) O 0] (Correct Answer)
(©)O 77
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Question No.51 (Question Id - 90)
orzfof =& A 2t0[7 R Off Chgt 2

|0
il
Pl
rr
3
rlo
40
o
188
I~
5

FEAZZLHOHAZE 2 2ot FUSATAM A E A2

O|fF R: RAE LTS AIFHSO[ AlZ2itE2S H2 200 HEL

(A)O AR= AMEO0|ZIR2 A2 &2 HF0|Ct

(B) O ASIR EAMMO|IX|ZFR 2 A 2 2HIE HHO| OfL|LCt,
(C) O A &= AMHO|X|TE R &= A0 OFL|LC}. (Correct Answer)
(D) O A& AXAO|X|ZFR &= AHHO|C

Question No.52 (Question Id - 30)
L2 uso SR 2HE TALCH LE2 A2 AEE WS DEAR,

HAM 712 o Al =
W[ES 7 L) [xe stm 42 o) el 7t
N 23 JEo[ A HO[E B JIola. s & oof
@Em o TTRE 85l el A kit slors, o
Clnms PS5 ENES HZE + 9l S NP ASHE
u= MEE 3taS0| 47|31 gloje.
O}7|2 QAISH AJZLS 27} OS2 WOHS| f 1 & Al
Eo}—|o 21 O — - O — O aO0= - L— [
Ot 25 [(Vog 071017 B0t

(A) O (A)-(II), (B)-(IV), (C)~(I), (D)~(ll) (Correct Answer)
(B) O (A)-(), (B)-(I1), (C)-(I1), (D)-(IV)
(C) O (A)-(I), (B)-(IN), (C)-(IV), (D)-(1)
(D) O (A)-(IV), (B)-(1), (C)-(l1), (D)-(I1)

Question No.53 (Question Id - 64)
ofziel =& A 0|7 ROt dHC 2 St= AS D2HAL.

FE A:1987H9| DIF3 2FO

hu

SHBIR2 BIFFOlo| Alth2 MEYD hEYHAT}

— AN —

oS
FR: 434, 4L, A4S0l B ItE 2 EAIZ7| HZ0f B 7Hd H 0| Af O| ZiCt.

(A)O AQREAMMOIIREZALE2
(B) O AR EAMOIX|ZIR 2 A 2| 2H}
(C) O AEAHMO|X|Zt R & At&O|OFL| T},
(D) O AE=7AO0|X|2t R & AtAOILCE,

HO|LC}. (Correct Answer)
E4FO|OftLC}.

Question No.54 (Question Id - 28)
Cts 22| 81 H|X3HX| §i= AS 12X

fo

Stz o| otE e S 2 ot 2 stFO| 38 X|Ch7t 0 SES 20 X|7F G20
A WE0| YHISHUS HU OfL[2t MSHE HN B30 W Fotes A2 &S off JAct
(A) O sHd2 ZMO| =22 FoX|HA SHF FAS| Za o2 S HEHA X2 TR/ALCH
(B) O #t=o| stz2 stx MAES MAFXZ 2t = o] 7|0{FHLC}. (Correct Answer)
(C)O M= 724 7+ MY ot 92 X|X|$ Ligks M| AT




od RY2 00 &= AILHRH O] X[H S XHX[5H7| 2ot +R2 -0 ZOof%tHE

—

Question No.55 (Question Id - 100)
Hao| 952 Ao LiE *(mtrallngual) HA oA
(intersemiotic) H Y, O M| 7tX| 2 2/ HSY St Xt= +

(A) © Roman Jakobson (Correct Answer)
(B) O P. Newmark

(C) O Lawrence Venuti

(D) O E. Nida

tlon N 56 (Qu estlon Id - 101)
= %E_ % ci0|2f gt = U= S22IAI7F UCE Chg SO 322419 SHt
A O E el 94 f\la k=N |2.
Z2|d - JOGGING SUIT
X|7| A — STAPLER

k=1
st — NAME CARD

r|mr0+
rOI'

E

m m o O W >

(A)O C,D,E,F
B)O A B,C,D
(C)O A,B,EF
(D)O B,C,D,E

2

2 H2 A3
00
- T

Ct (Correct Answer)

e

Ha A
o

Question No.57 (Question Id - 41)
Ch=o| 212 S0IM 2016H0]| HEAHQAE LIS S S s &+ X712
?

4E

(A) O gL}

(B) O HOtE FEfY

(C) O A F2|x} (Correct Answer)
(D) O 1n¥st7tx

4

Question No.58 (Question Id - 40)
oh=0fo] Y=o S22 HIEA ot A2 LE2AR?
(A) O E3|of, a| Uz}, —gtaX|
(B) O wa| 2 {A|2. —5t2H|
(C) O AtHl, ®2| 2A. - 3|
(D) O Hg|of, wta| 7. - s{H| (Correct Answer)

Question No.59 (Question Id - 26)
CS2 20 2 QU= TALICH A2 A QY= TS RO EAR
Ne n7E 2 8o gioe. 22H 5 & 25 WAIO|MD oS I SME=1t 0|2
SIE 3t S50[S 340 wAt Qof CHE Z{L SIAICH= MZte off 2 X0] 910 Q.




(C) O 2H=o|LC} (Correct Answer)
(D) O Hg x|t

Question No.60 (Question Id - 63)
Ofgfio| = A20|7 ROCHS B2 Sf= A2 NEHA|R.

HJ

FEA: O[S OSHE21960H4E 26 L 0fl ALY,
O|f R: =832t HSEO| Zot & WEOIRUACE,

(A)O AQARE= AMAO| I RS AL 22 MYo|Ct,

(B) O AR £ AMMO|X|ZFR 2 A 2| SHIE HHO| ofL|Ct,
(C) O A=AMHO|X|Zt R = AFEO| OFL|CL. (Correct Answer)
(D) O A= AZAO[X|Z R = A O|CH,

Question No.61 (Question Id - 24)

TroF =t A0 BEO| HHFO{M A =it 2 22 TIASH7|7F {ELHH o= HeEe=
2|5 HHY M Q0| & k[ =5 5= A0| ZRS}CL.

(A) O 8E40o| AAl (Correct Answer)

(B) O ez

(C)O IX|AIBHA

(D) O AAsHA

Question No.62 (Question Id - 47)
CH2 SOIAM ot= T3 at 2tEEl A -0| o A2 FAULIt 2
(A)O H2eY
(B) O =to|ch
(C) O AL}7| (Correct Answer)
(D) O et

Question No.63 (Question Id - 49)

thg 01 J Mol Al2t 1 Alof Ciet @Ol & JH Lot ALt O] Alof it 2Ol 22 A
_I_

A

rlo

140 2B 1 40| 2B
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SHZH20| BR8] 242% 1 L)

O 5=0[ &7|7| Hof e 7|2t 50| H
Lt= & ot=0f Lt= 7t0HH 2t 20|

T=o| ¢lE= K|z 50| got e[|t
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(C) A%} B= LI %L} (Correct Answer)
(D) O A%tB = CtE2|0

Question No.64 (Question Id - 75)
MeEp ACHof 2HE 0T Ao 20 {FHO0|Ct.
(A)O 483
(B) O &3 At (Correct Answer)

(C)O ZslA|
(D)O #Y3

Question No.65 (Question Id - 83)
=M Q! TS Ho| Q1= ObM|QHOf| CHEH HAZ R AO|2f L7} ?

oF Z
(A) O AseygH

(B) O sy

(C)O MMy

(D) O MUt H2 (Correct Answer)

Question No.66 (Question Id - 60)
MEZ2| 0T 0|52 FAYULIT?

(A) O WA

B)O 14

€O H¥
(D) O sl

%t

tQF (Correct Answer)

Question No.67 (Question Id - 67)
Ol SF7Fot=0l| =&fSH 22 o T L7t ?
(A)O =23
(B)O =g=
(C)O n3E=
(D) O 7}ok= (Correct Answer)

Question No.68 (Question Id - 74)
ot=0] 1623 £E 19103 7HX| &2| HIM A0 0 Y K2|E EM AMHS L7| YAo =2 7|
Eot Z{0|C} ALy AFo FH2 =&, 2 2HO| Hot &f4 LHEO| HMSHA 7|E & A0
oI}
AA .

(A) O &HeY7| (Correct Answer)
(B)O dyg=

(C)O M=FA

D) O =MLY=z oy

Question No.69 (Question Id - 56)
E0ESE AN HSOHRES LI ?
(A) O 1446
(B) O 1443 (Correct Answer)

(C) O 1456
(D) O 1449

Question No.70 (Question Id - 68)
Qe SFII7IX| 2 2t 24 F0i| 7bE tiaEXQl A0| ALY L7} ?




A

-

(A) O

10

ol A=A oY
(B) O 17| =Y FZ0| (Correct Answer)
(C) O ojngel HX|
(D)O Q= X=

Question No.71 (Question Id - 19)
Ch2ol 8l 7Hof| 2 HE NEAR.

= A L2 WSS BX|T o= oA XS0l =5 EO 2Lt

Lt d|, EAH2HO| oF &HotS O|Z0f L& & RUCt= =0 gA+=0l

I
OXtof HIoH O B2 n|s BAX K.

AO A
B)O #
(C)O 7t
DO =

Question No.72 (Question Id - 80)

Ct2ol £EI 1 0| SRA AZE AS L2,

(A) |42 o] ope| H =5 () A4 E 0| OpN|H 2F 3| 7| Lt

(B) & F2 T (I |2gs FABIE T 28 N5

C)|=H =27 #H HEM (I |&57F FA 22 &2 0| 2= &

(D) |22l 1 (IV)|2710= D3 XLt 250| Ble AS 0|2 &

(A) O (A)-(IV), (B) - (1), (C) - (), (D) - (1)
(B) O (A) - (Ill), (B) - (IV), (C) - (1), (D) - () (Correct Answer)
(C)O (A)- (), (B)-(I), (C)- (1), (D) - (IV)
(D) O (A)- (), (B)- (), (C) - (IV), (D) ~(IlT)

Question No.73 (Question Id - 88)
CiotRl ol YRSt & 10| 7tFar 2es| M 2
w0 HE S HT UE7|IALS =l SFt

(A) O Z&st

(B) O =3 (Correct Answer)
(C)O zd

(D) O zIMO|

Question No.74 (Question Id - 20)
CtE2 dX[of CHet & 74X FZO|Ct &= HE 1E2AL.

Statement | : ZX|7 S22 AJfEl EH2 2 3000F M =2 A|FGO|Ct.

Statement Il : ZX|= £ =2 S4|0|C},

(A) O Both Statement | and Statement Il are true. (Correct Answer)
(B) O Both Statement | and Statement Il are false.
(C) O Statement | is true but Statement Il is false.
(D) O Statement | is false but Statement Il is true.

Question No.75 (Question Id - 62)




oh=20| UHSOX[7] Hof| et=0 M 22 FRALR 7| EE|ASH I ?

A THE

B. T2

Cc. OF

D. 7Z|&%

(A)O A B&D

B)O B,C&D

(C) O A, B &C (Correct Answer)
(D)O A,C&D

Question No.76 (Question Id - 46)
CH2ol 27t ZHZ0| BHA HAE A2 o= ALt ?

A) [ (O EES

B)|AHArHA (ny |=2Ao Hif+te
(C)|XHEHA (&=

(D) |4 (IV) [HIC|H O] = Q14

(A) O (A)-(I), (B)-(1IV)

(B) O (A)-(I), (B)-(l) (Correct Answer)
(C) O (C)-(l), (D)-(1V)

(D) O (C)-(Iv), (D)-(1)

Question No.77 (Question Id - 52
Lol A2t AICHA B ZO| 22 222 FAY LI} 2

~—

OIZhe| LYROIM AFRE S FAYLIT

Yol whorzk Lol 7= O{HIM 2HE 5= AL
=
T

eIZtE st MesS BE=2 +

He
=)
I
>
to

A= ol 2 X AE Rp2|of

(A) O z|Qzo| «ZX” (Correct Answer)
(B) O USZo “REII|H

(C)O dFz|o “EX|

(D) O M Ho| “pM Tt= Z”

Question No.78 (Question Id - 65)
SO FH AL | M B RSt A2 FARLI?

A HNHSE
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(A)O A,B&D
(B) O A, B & C (Correct Answer)
(C)O B,C&D
(D)O A, C&D

Question No.79 (Question Id - 34)
ot=0] 22 X2 HEX| Rot A2 BAL LI} 2
(A) O ¥tm - cveev
(B) O 0F7| - cVCV (Correct Answer)
(C)O 3-cve
(D) O 50| -cveev

Question No.80 (Question Id - 31)
Cte2 £27] (N, Chomsky)o| 210] %Eﬂ. (linguistic competence)at 210 =& (linguistic
performance)Of| Ci$t E%'Ols'/'—) 2 L=y e
A Q0 SE2 FHH Y

S|
S8 BtEAl X7t QUE= AO|CE.
OI_-I k=3

(A)O A2tB
B)O B2tC
(C) O ¢ 2D (Correct Answer)
D)O AeD

Question No.81 (Question Id - 39)
Cte2 ot=0l2l EZ0f Che 2FHO|C}.

A=A O{O7F ZEE ALE

B. AMe& 2=z BEE B8R

o #+=0| ZZ0{0|2 O|F TICt.

Mo
Ho

C.  ‘BRAPLE-ZHA CHE A7 GUCt.
D. ¢=0l= LEIO|N{F0 £33t W00,

(A) O ADFGHCY

(B) O A%t BT G},

(C) O A2t Bt CETHGELY,

(D) O A%lB,C, D, 25 Lt (Correct Answer)

Question No.82 (Question Id - 69)
S H7t Ao X2 o272
(A) O HF=
(B) O M (Correct Answer)
(C)O ANE=
DO 5k
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Question No.83 (Question Id - 58)
A

ZHAL o gof X[ 2|7t ot=

B.

ojru

HC}.

A
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i
otLfel =1t 1 o|/F& LIEt D ULt Of &
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M2 fFuIE0| ROt XES FA|
tion No.84 (Question Id - 44)

(A) O A & B (Correct Answer)

(B)O A&D
(C)O B&D
(D)O B&C

D.

J

ol
aoq

s[d
l

Jo!

FC}.

e
—

SHO{ OF

2| Ct.
of

=
=

2|C}. (Correct Answer)

C}.
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F

x|t B A O|

YOlLC}.
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ZMAIC] OS2 SR E|X

Question No.85 (Question Id - 54)
(B) O A%} B2t CTt %L}, (Correct Answer)

(A) O A%t B = Ct 2Ct

(D)O ASB E Ct

(A) O aetB

(C) O A2t B2t C2t DB UL,

(D) O A% B2t C2tDSHE 25 SiCt,

(B) O A=
A|Z=0f CH

D.
E.




